December 13, 2018

Lesson 5 HW

1:20 PM

Name: KM/
J

Date:

Pre-Calculus 11 CH3/4 HW Lesson 5: The Quadratic Formula
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1. Given each quadratic equation, indicate the values of the coefficients “a”, “b” and “c”:

a) X +5x+6=0

b) 12 +7x—-3=0

c) 2x*—7x+5=0
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2. Solve for “x” for each of the following by using the quadratic formula:
a) x*-S5x+6=0 b) 3x* ~x+1=3 ¢) 2x* -3x-1=0
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3. Under what conditions will the equation have no solutions? ax” +bx +¢ =0 Explain why
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4. Under what conditions will the equation have only one solution? ax® + bx + ¢ = 0 Explain why
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5. The revenue a company makes for selling shoes is given by the equation: R = —Sp2 +1200p , where “R" is

i

the revenue and ‘p” is the price in dollars. At what price should the company sell their shoes to generate a

revenue of $400,000? Yov .00 = ’gﬁi—\' \m\f .
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6. Here are the steps that John used to solve the equation: 12x* — 7x — 3= 0. Find the mistakes:

Lox=(7 W —402Q) “Chsaws L ¢ x = =7£1.9794955..

2(12) &>
Tiais T swiwve
we Dl O+ 42401 —144 }L5 tx = =7 +1.9794955.. = =5.0205...

" 22
L =Tt 2257 L.:

o1 X, = =7 —1.9794955.. = —~8.9794955...
Tois W 24

L= vrY
Copyright All Rights Reserved at www.BCMath.ca 2

CHapter 3 Page 2



